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The rag;
1us . .. -1
» Fem, of g circle js Increasing at the constant rate of 3cms .

Find , .
the rate af Wwhich the area of the circle is increasing when its radius 15 13.5cm.

, -1
@ The side of a cube of length x cm, is increasing at the constant rate of 1.5 cms

Find the rate at which the volume of the cube is increasing when its side is 6 cm.

The sy  em 257!
@ rface area, § ¢m » of a sphere is increasing at the constant rate of 512 cm?s™".

The surface area of a sphere is given by

S =4m'2,

where r cm s its radius.

Fin'd the rate at which the radius r of the sphere is increasing, when the sphere’s
radius has reached 8 cm .

@ Xx=4sin@+7cosd.

The value of @ is increasing at the constant rate of 0.5, in suitable units.

Find the rate at which x is changing, when = %

@ Fine sand is dropping on a horizontal floor at the constant rate of 4 cm>s™! and forms
a pile whose volume, V cm’, and height, h cm, are connected by the formula

V=-8+Vh*+64.

Find the rate at which the height of the pile is increasing, when the height of the pile
has reached 2 cm.

@ Two variables x and y are related by
y=%7rx2(4—x) :
The variable y is changing with time ¢, at the constant rate of 0.2, in suitable units.

Find the rate at which x is changing with respect to ¢, when x=2.
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The container jq :

Nitially €mpty and wh i liquid in the container is
h cm the volume en the height of the liqu

of the liquid, v em? is given by

V =36h2.

a) Find tl.ic rate at which the height of the liquid in the container is rising when
the height of the liquid reaches 3 cm .

b) Determ‘ine the rate at which the height of the liquid in the container is rising
12.5 minutes after the liquid started pouring in.

The radius R of a circle, in cm, at time ¢ seconds is given by
R=10(1-¢™),
where k is a positive constant and ¢ > 0.

Show that if A is the area of the circle, in cm? , then
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